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9 93 & / Que. Paper No.:  1/23-24/Science/

Sl g0 ¥ SIS / To be filled by Evaluator

31 1 f9aW0T / Details of Marks
o / QUi / ST / SRl % SRR
Subject Max. Marks | Marks obtained Sign. of Evaluator
fasm / Science 100
N.1. 6l fawed H 99 HRTE / Choose the correct option - 2x10=20

A — T T g=if § TR fawedl (31, 9, 6, ) | | [6Hl T & =799 & =
Note — Select any one of the internal options (A, B, C, D) in the given questions -
1. T Y ST J5d & ol T e TR 1 Tl FLAT & ?

What kind of motion occurs when you swing?

(37) S @I @) FEAERR A

(A) Straight line motion (B) .. Circular motion
(®) 3T (@) %

(C) Periodic motion (D) Vibratory motion

2. FRRHAAS FNARATITEAE 2

Which disease occurs dueto the deficiency of vitamin A ?

(3) T @ 8=

(A) Night blindness (B) Berry berry
(@) &l (@) ke

(C) Scurvy (D) Rickets

3. dHieA gaEewel AAel fGSH) (7eaas - 6.140.2)
SYGh 9< 1 H fohel T 9l i I & —
Which food items are mentioned in the above Veda Mantra —

() TS (i) =i, I=g (iil) TE (iv) e
Rice Barley, Urad Wheat Sesame
(30) (i) 3R (iv) @) S (iv)
(A) (i) and (iv) (B) Only (iv)
(@) (i) 3R (i) (@) (i), (i) 3 (iii)
(C) (ii) and (iii) (D) (i), (i) and (iii)

1 a9/ Year - 2023 - 24




85 / Science eI -8 G0 / Vedabhushan First Year Examination SET- A

e 641/ S -1 / Class 6 / First - I

frrafesiad # @ FM @ A dq 2 ?
Which of the following is animal fiber?

() S @) HAE

(A) Wool (B) Cotton

(®) e (@) SUE HH ERE
(C) Jute (D) None of these

T S © T o ferfer g s foha v &2
Which of the following is a method for obtaining common salt from sea water?
<

(3) a§ @ & =

(A) Precipitation (B) Evaporation
@) feramm (@) FEIAE

(C) Decantation (D) Sublimation

o oo e

frrefosRad H | 19 T ST 9T &7
Which of the following is an aquatic plant?

(3) FHS @) A
(A) Lotus (B) - Rose
® @ T
(C) Fern (D) Hibiscus

FIA (A) — TTeH N R Tl SHie aTchl @fest gl fed FEad 8 |
Assertion (A) — The joint connecting the neck and the head is called the
pivot joint.

F9 (R) — U Hie R 1 311 dr 21 3 o AT i 1 Fdl 8 |

Reason (R) = The pivot joint serves to rotate the head forward, backward or
left to right:

d) ATWRIFMTER | R, A il & AT FHATR |

A) Both A and R are correct. R is the correct explanation of A.

9 AWRIAGEET | R, A T G AR 71 FATE |

B) Both A and R are correct. R is not the correct explanation of A
H) ATEERIRIT@AE

C) Aiscorrect but R is incorrect.

7 ATSAERGRTALE |

) Aiswrong but Ris correct.

(
(
(
(
(
(
(
(

)
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8. g THREH: | (IS - 1.25.7)
ST g HS H AT % P A S E -

Which means of transport is mentioned in the above Veda Mantra?

(i) e (ii) R (iii) I (iv) e
Horse Boat Bull Donkey

(31)  FS (i) @) F (i)

(A) Only (i) (B) Only (ii)

(®)  FS (iv) @  F (iii)

(C) Only (iv) (D)  Only (iii)

9. IRH@q: FRREM A A e -
Self-perpetuating motion in the body is -
() USRI BATEDT (i) SN (i) TS (iv) U HEH @

Blinking Running Walking Looking back
() A (i) @) &S (iv)
(A) Only (iii) (B) <" Only (iv)
(@) (1) I (i) (). %S (i)
(C) (i) and (ii) (D) Only (i)

10. YA (A) - R 1 596% a9 #ve TRE 1 THRE |
Assertion (A) - The transformation of an infant into an adult is a slow type
of change.
F94 (R) — 79 § 21 J el GRAH H1 FHR 2 |

Reason (R) —Formation of curd from milk is a rapid type of change.

@) ATREFTEE IR A Fil T8 AT FAE |

(A) Both A and R are correct. R is the correct explanation of A.
@) AWRIAGEZR | R, A FI L AR & FA 2 |

(B) Both A and R are correct. R is not the correct explanation of A.
@) ATHEWRIRISAE |

(C) Ais correct but R is incorrect.

@) ATGIEWGREEHT |

(D) Aiswrong but R is correct.
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y2. <k el 9 9fd FIT / Fill in the blanks— 1 x 5=5
1. SrRerdl i Gfeadl TR oo Y Gl Al 2|

......................... Mirror is used for rear view mirror in vehicles.
3. VIR GCHTI] [ 1 S oo F FaT AL

......................... is known as father of Indian'nuclear science.

4, FEEH oo, YIS E |
Magnet has .......ccccceeuene poles
5. @HT % ThE R (MKS) T8 T o 2
The unit of time in MKSis .........................
9.3. W& el H e AR /Match the correct Column — 05x5=25
&R & /Column A &R E/Column B
(i) ¥ e (@) 36 9T H qRaaH
Physical change Solid turns into vapour
(i) TEEleER TRaa (@) o] %1 54 H gRad
Chemical change Vapour turns into liquid
(iii) aTSTET (@) TG gE! a
Evaporation Formation of curd from milk
(iv) ST @) =S
Sublimation Solidification of Ghee
(v) @g (@) &3 AT H R
Condensation Liquid turns into vapour
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4. T Sl T HSE HNT /Match the correct Column —

9.5.

9.6.

&R % /Column A &R @/Column B

() R g ) FH
Transparent object Firefly

(i) STIRERN 9 g 9  ghieEm R
Opaque object Aluminum sheet

(iil) TATE T d) oA e
Translucent object Polythene sheet

(iv) ST g
Luminous object Moon

(v) e aE] q) S F A EES
Non luminous object Oiled paper

frrosRat eretl o fermm hifeTe -

Consider the following statements —

LD N SN DN

(i) U % 96, HAE % qrdi 9 9169 Bid £

Cotton textiles are obtained from cotton plants.
(i) AR Tk qed ffa @ e |

Nylon is a man-made fiber.
(iii) VT T T TR A R B

Occurrence of earthquake is a reversible change.
(iv) & WIE S JEEleh TR 2|

Rusting of iron.isa chemical change.

[ NI aN

(v) Taafim K Sie &9 W T F1 e 99 § GeEE el 8|

Vitamin 'K' helps in clotting of blood at the site of injury.

< o e S N = D
SUGT (18 v I%) FI | 9 HiA-9 TE 2 ?
Which of the statements given above (i to v) are correct?

(A) i3 ii (B) i il iv, v
(A) iand iii (B) i ii,iv, v
(C) iRy (D) iii, iv, v
(C) iandv (D) iii, iv, v
T 1 A TAR —
State true or false —

() FHEERSE, TR H I H T e € |
Carbohydrate helps in the growth of the body.

05x5=25
25x1=25
05x5=25

5
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(ii)
(iii)

(iv)

THBIEE FHT AR (I F1 FAGH € |

Bakelite is poor conductor of heat and electricity.

BIE o Y FH & ST 1 TR H FHA & STeft 8 |
Deficiency of iron leads to anemia or weakness in body.
T T TR A 2 |

Man is omnivorous animal.

(v) 29 fR S % forsror it feredian fafer g geres e < e 21
A mixture of milk and water can be separated by the method of filtration.
N7, Ao ST T (01 4k H ST fE B) 2x5=10
Very Short Answer Type Questions (Answer to be written in full line)
1. TRl % TNEaE ¥ g ferem e |
State the two laws of reflection of light.
2. I % HIE o SHENT fosfan)
Write any two uses.of magnet.
3. TR &1 § ST H A aTes foheel 1 IUHUT o6 A sl |

Write the name of any two appliances used in medical field.
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4. O A % 31 ISR fosfla |

Give two examples of rotational motion.

5.  EHN ¥ % G&T JI9 ddi & AW foiau)

Write the names of the major nutrients of our food.

u.8. SE[I uA 3x5=15

Short Answer Type Questions

1. g G FEd B2 e & SRR a1 U foRaT | g & Sreu 90 § gt a9
o A1 A R
What is a magnet?«Write any two properties of magnet. Write the

Veda Mantra orShloka related to the attractiveness of the magnet.
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H 91 9%,/ Mantra or Shloka

THIGREE qAT TR % 7T 3 T8 HT |

Explain difference between thermoplastic and thermosetting.

A~

afee Stie § oT9ae gUuT & I9anT fsRaa |

Write uses of concave mirror in daily life.
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4. el A F SR 1.65 WX 2 ol TH HEHIS auT FHeiiex H e Hife |
If the height of a person is 1.65 metres, express it in centimetres and

millimetres.

D

5. SMETFE I 82

How is shadow formed?

99. [{oeoncs o 4x5=20
Descriptive Questions
1 o T R | T | e g A i feha |
Explain the motion of a bird. Write the related Veda mantra or Shloka

of motion.
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A 91 9% /Mantra or Shloka

2. YRR GEU fFE FEd 8 ? TEEE GHIE fAEH GHRET |

What is photosynthesis? Explain and write.chemical equation.

3. IHRHUNY ST STIERATNE TRE (hd Fad & ?

What do you mean by reversible and irreversible changes?
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4, S STEA H ITERT Sl it G SR a3 T - @i | a1 87 W foRau)

List the fabrics used in daily life and mention the name of fibers from

which these fabrics are made.

5. EHG R T e 2 Saia i & TR feha |
What is synthetic fiber? Write the types of synthetic fibres.
9.10. aﬁﬁﬂql»'{%’{ 5x4 =20
Long Answer Type Questions
1. A TR H 1S ST et il dfrt e 6 S Ige aid SeEEs |

What are the different type of joints found in the human body?

Explain with examples.
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2.

IR H T W T FFH TR a1 Thdl 22 (R € T9mEyy

How can a magnet be formed from an iron bar? Explain in detail.

12
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3. N, SIS AUl U W IR [ ST dlc UREE o |1 ok Uedish diF-clid SEIetul 1)

Give three examples each of the means of transport used on air, water

and land.

-

TG % TR G Gl Rl e RTE Ha1ET S EehaT 87 IS0 died THeEy

Into how many parts can plants be classified on the basis of their

lifespan? Explain with example.
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